Math 2025, Quiz #4 Name:

1) Determine which of the following sets is not a vector space. Explain your answer:

a) {(z,y,2) €ER® |z +y—2=0}.

b) {(z1,22,23,24) € RO | 2y + 35 — x3 + by = 4};

c) {f€C®R) | f'+ f =0}

d) {z € V| T(z) =y} where V and W are vector spaces, T : V' — W is linear and y € W.

2) Which of the following maps is not linear. Explain your answer:

a) T:R = R, T(z,y,2) = (z + 2y,z — 3y);
b) T:R =R T(z,y,2) =2x+3y+2+1;
©) T:C(a,b) = R, T(f) = [} f(0) de
d) T:C*(R) = C=(R), T(f) = f"- f.
3) Evaluate the given linear map at the given vector

a) T: C®(R) - C*(R), T(f) = 2f' + 3f, f(z) = %

c) T:C([0.1)) = R, T(f) = [, f(z)dz, f(z) = cos(2mz).

d) T:C — C, T(Zl,ZQ,Zg) =21+ 22+ (3+i)23, (21,22,23) = (1 +i,1—14,2+ 31)



